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; Grey line: exponential fit Peak flux: 3.104+/- 0.565 c/s/cm? g
E Black line: power law + gauss fit Fluence : 16.57+/- 3.02 c/cm? -
= Dashed line: power law Duration : 14.80+/- 3.10's =
E Best fit model: 1. E
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; Exponential fit é
= Expon.time: 5.32+/- 1.06 s (chi*red= 1.04) =
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= Power law fit E
= Power law index: -0.999+/- 0.141 (chi-red= 1.06) =
= | 3
= b bd bt | AT PRI RN AR AR
ST FEA A ot bt b b gt o St Tt W Ot a8 B

- I ﬁ HM + i + i ﬁ I ﬁ: W i Hﬁ W ﬁ W+W+ iy i ﬁw it f# m W ﬁ ﬁ } m m *HH wa M f *HHW% H% W W ﬂﬂ HW i m ¥ +H #ﬂ H%HE
i‘ T T T T T T T T T T T T T T T T T T T T T i
— Power law fit plus Gaussian (st.dev.=******+/-***** g, fracgs= 0.00+/- 0.00) =
= Power law index: 22.966+/- 5.382 (chi*-red=-1.00) 3
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